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Question No. 4
2y
Simplify >
(x§ Xyt
© :
= - ys
© 113
XzVe

y xs
¥ oy AJ\
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' Question No. 6

-

Detcrmme the following union @ v {1,2} =

(1.2, 4}
{1,2)
{1}

@

© ©0 O O
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- Question No. 7

! - - — -— e coo—— e e e

- The expression xyz can be classified as a

< monomial

' binomial

O trnomial

V' none of these
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Question No. 2

\‘

Simplifying the power of i'%3® gives

O .3
O 3+
O 1235
O .j

0. ©6

R
6 o6 —

_Q’Z/Zf;: Og
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—

Question No. 3

l d ia =

- The solution set of the equation 2(x+3)=2x-6 Is

0@

O 1

U {2.3)

' All real numbers

o S
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Question No. 9

-

Let z € R and = > 4 . Simplify the expression \/::—4\/5:4—4

© /z+2
O—\ff-2
© vi-2
O _/T+2

5= s L

|
|
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- Question No. 8

—— R ————— — e . G P

Let U= {-2;-1,1,234}, A ={-1,2,4} and B = (—2,—1,3). then A'NB=

(@ (%)

° (23

© (3)

© (-2,-1,3)

A\-; {/z/\/ S}
2 -{a, 85
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——— e

- Question No. 1

C— - Pr—— y—

The exponent of (2xy)? is
Q 2gy

(9 6

Q2

-
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L —_—

Question No. 13

Which one of the following equations is not a linear equation?

X—1=0

@ 23\ 2
(T)x+0.5(2x+ 4) = 3%
3X3—§-x+1=0

~ 0.02x—0.002x = 0.50
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Question No. 14

e — —

The domain ¢ e
- (x+3)(2x-3) -

R\ {3, =)
7 R\ {-3, 3)
O R \ {_3}
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Question No. 10

Dividing —33x® -9x%+30x" 21 by -3x* gives

© 110 +3x* 1122+ 7
© 11x% 432t —11x% + 7x

wu“-wém\}
© 1168 4+3x* —102 - 7 (o O =\ x4+ 7

) M~/7>/ JrSa%»?lx,

V . ?If \%5 +Jox " - 2 1™

3//1 \Z}//
}( : <
_ /fz/\ g 5 / x =2\ »*
G
“ - WWith CamScanner
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Question No. 12

AR Y O ——

Simplify the compound ratio

i
y—3
QO

A o8
y+3

S, &
v+9
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Question No. 11

Factor : 4x2-y2-6y—9

O @2x-y+3)2x+y=-3)
O (4x-y-3)4ax+y+3)

O (4x -y +3)dx +y~-3)

C/X/L" (‘Dl—r 6y +9J
T (3) (343
Gt — (91 3)

Q CE 3}) (Z - (afﬂb
(Z X \J\5> (invﬂ+3>
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Question No. 25

R

The quotient :2;

Q 2
O .21
O 1
O .1

-

can be written as

_N_

Save & Next A9, S

__.-‘
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.t ————— ———— — - — - .-

" Question No. 22

- -
. —— I -

(74 6274 Bud=dx) H(-5xt+ 243~ 2 + 7x5)

© 20424460+ 3

15x°-0x44-8x3 + 5
(8

1 5x10 9484 8ab-+§
Yl4aMy s

NGNS A
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Question No. 23

- - — et

Write this expression as the product of areal number and i

3
~J=80
- 8

© 12iV5

© 6ivS

O 31.\,-5-

o —6V5
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' Question No. 24

Simplify e

_— 2 Ar( 4 X
xy—1

O xX+y >< D 7< o
y(x-1) — — 3
x+1
X+y >< N
== P

-

P

_—‘
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Question No. 21

— e — — Tl s T ot e e

Select the correct property that describes the given equation.
(8x12)x3=8x(12x3)

' Associative property of multipication
QO identity property of addgtion

U oInverse property of addition

U Commutative property of addttion

//
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' Question No. 20

| Solve 75 — ;- —

oK/

O 1125

i

T

Scanned with CamScanner



- Question No. 19

- The expression 3= + = — 5. is equal to

LD
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Question No. 17

—— — -

LelU={1.2.3.4,5.6, 7). and A= (1, 3, 5, 7) the complement of A is

©{1,2,3,4,5,6,7)
0

 {2.4,6)

Y {1.3,5,7)
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Question No. 18

Factor —12x2+ 27 j

9 3u+3)
- -3(2x +3)2
“ 3(r-3p

C{s(zx +3)(2x - ”ﬁ
0 e W\ =5 2\

3(ip9) 5"

3 (:(ZY /5) /zH zﬂ

ey

P&
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Question No. 16 .

Factoring x* — y*

O X’—y’

o (x = y)(x? - 2xy +y?)
4 (c+ )02 + xy + y?)
Y (x—-y)(x? +xy + y?)
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- Question No. 15

- — — ] —— ———

Let U = {-3,-2,-1,0 12358, A = 120248, B = DALAKELY ad C =
Find (AN BY U(ANCY. AT CIANR R = RS

Y (0.4,6-2)
U{-3-1,1,2.3,5)

U (3-2-1.1,3.5)
V{3-2-11,35,2
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Question No. 25

The exponent of (2xy)? is

— —

"
s 2 Mavy 18, ki

[ o8 io;"_ \'f\:'. _J.:-tl"-—l.]
e — - —————— - —
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Question No. 17

xz ~3xre2
Simplify the expression. ——-i‘f‘—

PRSI
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Question No. 23

Petrform the indicated operation.

(7-30) = (5-20)

UL A
Pl — 2
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Question No. 24

It A={1,2.3.4,5,6) then

{14]c A
1 €A

(01} A

(1] A

—_————y
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Question No. 16
Factor the following polynomial :4tx* -+ ytz — 4zt — tyx®

+z)(4t+yt)

(: z)(4 - y) \
| —2)(4 -
| —z)4+ ))

[@% T Jﬁﬁy% i P@JN \jr%
Ly ) -2 =)

<%->B C%yl >4
a}) LLCX — 2>
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Question No. 14

p— . X &
I'he domamm of ~———— 1s

22 -S5x-6

R\ {-1)
R\ (6)
R\ {~1,6)
R\ {1,6)

A3
/M;/(;/)E/)j
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Question No. 13

Factor —12x* + 27

3(2x + 3)°
3(2x-3)
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| 28 -
' Solving the equation 2AP-3rt=5Prt for P gives
I : :

O 2
p=24




Question No. 11

' The intersection {4. 6, 8, 10, 12,14} N {4, 5,6, 10} gives
| ;
| < {4,6,10}

© 4.6,8,10,12,14}

0
14,6, 8,10}

-
[
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Determine the following intersection ¥n {6,7} =

Vo

7 {6,7)
ol v
(3

- R aah B Risart N LA
’.iu %\."“-“' ‘;,:,T
LR v S aieye

el
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Question No. 9

|
|

It N SRR
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Question No. 8

Simplify the expression
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Question No. 7

- Smplifying the power of {1235 giyes

St
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r # 0. Factor out th
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. Simplify the complex ﬁ'actionﬂ.

14 o

. s
— ——— —

.’L'+3 .’B_El
I
z—1 +:z:+3
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 Dividing —33x° 9% +30x*-

| . 11x° +3x° —101‘2 -7
= llx6 +3x4 —llx2 + 7
115 +3x1 =102 + 7

11x% +3x° 11x%+ Tx

Scanned with CamScanner



Total questions in exam: 25 | Answered: 0

Question No. 3

The solution set of the equation 2(x+3)=2x-6 is

All real numbers

2.3}
1
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Simplify the expression, assuming that the variable can repres
: — B

& -2l vl

¥ Bl
16a*

164"

81
16a°

81

\
. 1
s g1
16a*

7:9@(;5@};@@
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Question No. 1

The expression 82° +3,° +4 2 can be classiﬁed as a

none of these
monomeal
irnomial
binomial
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Question No. 23

Petrform the indicated operation.

41
29
AT P
- 4 =
5 2
— 7
41 |
29 29

Total questions in exam: 25 | Answered. 0

(7-30) = (5-20)
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Question No. 24

It A={1,2.3.4,5,6) then

{14]c A
1 €A

(01} A

(1] A

—_————y
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Question No. 25

The exponent of (2xy)? is

" =

Save & Next o1, ko
P ¥ S A 2 _J.--,l-—'

——— ——  ——— -~ —
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equation.

question NO. 19 .
at describes the gven

Gelect Ihe correct propery ih
S o
15 x(749)° 15x7+ 15x9

Dsinbutnve pmpcny
|dentéy property af acdeion
property of 20d8i0N

y of a00RION

Commulatve
iwerse propert

—ry
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Question No. 18

Factoring x* — y*

(x = ¥)(x* + xy + y?)

- y?

(x + ¥)(x? + xy + y%)

(x — v)(x? — 2xy + y?)
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Question No, 22

(28-1bzc-z)z
(37'b)(2"*ac™%)?

Perform the indicated operation

~ 24be?
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Questien No. 19 FLa
=
/10
- - -

T feo numbers gives
writieg, — g in standard form of comple
O ~14iV2
0 _1-2
Q-1+ V2
O .1-iv2

g

-

m C‘%zﬁ
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Question No. 21

’sing set notation. write the elements belonging to the set

{r|x=n’ nisanatural number less than or equal to 4).

‘1.8, 27)
41,2, 3 4}
{1.2.3)

{1, 8 27, 64)
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0
ANt

) '
Y

W
S 0% 848 ) &

)
1Sy it s

ve & N!n.,ﬂ,h
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duustloa No. 16

The simplified crptu-on of (=9 is .pmitim if the valees of x nnd y arc oqual to

0 x=99
Czx=0y
@ 2=2 ¥

N

ﬂbxzs.

3
2
2
2

g 5 (9) oo -
Ay I L ) o

Save & Next ) e
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Question No. 17

—— - —

" 3 4
Find the sum — + —
2y a4y

Save & Next AR, A

—— o —— ¢ ———
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Queston No, 18

- - —— - - - —_

Factor out the least power of the variable  18n*? — 12p/
6n3(3n— 2)
.-
6n3(3n? — 2n)

e _ !
6ni(3n® — 2)
o

.
6na(3 — 2n)

/h%(gﬁ =* 7/>

Save & Next AP A
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Podal quaesion o onam 28 | AMovweid 7

Queslon N 12

Weiter thebs onaendsee as the prodct of a real smbier aod §

v{ 225

TR
N
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 Tetal questions in exam: 25 | Answered: 2

— T — — ————— — -

C—

Question No. 12

e — — —— A ————— e — i -

Using 561 pctation, wiite the élements elanging 1o the set
(x| * & @ DALl O30 NUMbEr Desween 2 300 14)

03456789 10.11,1213
U35 7.9 111y
C1.3.57.9 1113

VU (4.6,8 10 12)

Save & Next R, b
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Quesbon No. 11

The solution set of the equition ,; (2x 1 5) = “53’ s

AL

Save A& Next 19, e
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Queston No. 7

Factor completely: v — 13y? + 36

Y (2 -D0?-9)
. (y2 ' 4)(.\'2 +9)
(- 6°
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Question No. @

ITA={1,2,3} ana 0-{0,1,2,3) then

v A=8
“ Aand B are disjoints sets
YBCA
“ACB
\
— —
Save & Next AN, e
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Question No. 8

e - - - — — — - C— ———— —— e C— - - - - —

 Factoring x* ~ y?

O 2 ).:
O (x _y)(lz 4 ty 4+ )02)
Yo+ ) 4y o+ )

% (x- 907 - 2y 4 y7)
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' Question No. &

T t—

| Perform the indicated operations and Simplify. — i "z‘:":;"z
aly

5 R (5]
2 =G (o
e

'(a+%)

N

e e e
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—— -

‘ Question No. 5

' - - '
: When factored completely 25x%" + 10x9° becomes

—— - —— -

Y Sn2(Syr+2)
Y5 (S + )
Y Sxf (Sxy + 299)
Y 5(5x%0 + 209

6><3l(6><j + )

I —
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Question No. 1

———— —- —— -

- - - ———

Sekct the correct property (WAl desardes the gven equation
BT +9)=15x7+15x9

© Idensty property of addtion

U Dsyoulme properny

* Comminane peopenty of add0on
O tawverse property of a0dton

Sarve £ Wext LN, e
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' Question No, 4

2(x-5)*+4y

-
’ Ch

-

| 2 .
Evaluate for x = ~2,y = 5, and z = ~3 the expression: .
O 118
O .181
© 181
O .11s

A =62 oL

—

Save & Next AR, dae
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Question No. 2

e :. “ »
e quotient egy L e writlen as
A

-
LS N
o
L ) '..
L [

A\

(%VJ% ——> ¢

EomErs .
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| Queston No, 3

‘ - — - e — - — ———— e |l e e el —

| 2.,-2/3 "1./7
- Sunplify =

x' ‘/2y‘3

/
© 1
X314y 1/3

O !
TR

i \

1 -

o
G e 7

Ly xSl"

Scanned with CamScanner






